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(12) 

57 x 28 = (50 + 7) x (20 + 8) 
57 x 28 = (50 x 20) + (7 x 20) + (50 x 8) + (7 x 8) 

57 x 28 = 1 000 + 140 + 400 + 56 
57 x 28 = 1 596 

 

• Observe l’exemple et complète : 
 

57 x 28 = 1 596 43 x 34 = …………… 
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69 x 35 = …………… 71 x 58 = …………… 
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94 x 29 = …………… 38 x 21 = …………… 
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• Complète : 
 

41 x 53 = (40 + ……) x (50 + ……) 
41 x 53 = (40 x 50) + (1 x 50) + (40 x 3) + (1 x 3) 

41 x 53 = 2 000 + 50 + 120 + 3 = …………… 
 

95 x 62 = (…… + ……) x (…… + ……) 
95 x 62 = (90 x 60) + (5 x 60) + (90 x 2) + (5 x 2) 
95 x 62 = ………… + ………… + ………… + ………… = …………… 

 

55 x 77 = (…… + ……) x (…… + ……) 
55 x 77 = (…… x ……) + (…… x ……) + (…… x ……) + (…… x ……) 
55 x 77 = ………… + ………… + ………… + ………… = …………… 


